GEOGRAPHY TERM 6 YEAR 10 HOME LEARNING PACK LESSON 7

Complete quiz A and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.
QUIZ A: 
a. Food consumption refers to….
b. Food security is….
c. Undernourishment is….
d. A physical cause of food insecurity is….	+ More specifically…..
e. A human cause of food insecurity is….	+ More specifically….
f. A social impact of food insecurity is famine. A famine occurred in Somalia in……………, which killed….
g. Food insecurity = increased food prices because…..Figure 1
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Figure 2[image: ]
Figure 3
[image: ]


h. Increase in food prices = food riots. An example of a food riot occurred in….. 	
i. This food riot resulted in……and lasted…..
j. Food insecurity can result in farming on marginal land. Farming on marginal land = soil erosion. More specifically……
k. To reduce the risk of food insecurity they launched the green revolution. This is…..
l. Why did they launch the new green revolution? 

PRACTICE EXAM QUESTIONS
1. Study Figure 1, a map showing the percentage of population that was undernourished in Africa in 2014.
a. What percentage of the population was undernourished in Chad in 2014? (1 mark)
b. Using the map, describe the distribution of countries in Africa where there are high and very high levels of undernourishment. (2 marks)
c. Describe the distribution of countries with a significant risk to food security shown in Figure 2. (3 marks)
2. Figure 3 shows a list of impacts that are caused by using irrigation in farming. Using Figure 3 and your own understanding discuss the impacts of using irrigation as a method to increase food security. (6 marks)
3. Outline the physical and human causes of food insecurity. (6 marks)
4. Suggest how food insecurity might affect the quality of life of people. (3 marks)
5. Assess the effectiveness of strategies used to increase global food security. (6 marks)
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Irrigation can bring the following changes to farming in tropical areas of the world

1 Irigation can cause a change from subsistence farming
to commercial farming.

Irrigation can deposit salt in the soil
Irrigation can increase the length of the growing season
Irrigation can increase rural debt

Irrigation can increase the total crop produced
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Irrigation can affect the local ecosystem.

() Choose one change that you think is an advantage of irigation for tropical
farming. Explain why this change is an advantage.
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(i) Choose ene change that you think is a disadvantage of irigation for tropical
farming,
Explain why this change is a disadvantage.
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STRATEGIES TO INCREASE FOOD SUPPLY

and low food consumption: LICs (many African countries)

Food consumption | Future developmentand population growth willaffect food consumption patterns
+ Countries with increasing populations need more food for the extra people.
+ Asa country develops, people start to eat more meat and processed foods.
A population has access to safe, affordable, nutritious food to maintain a healthy
Food security

and active life.

Food insecurity

When a population does not have access to enough safe, affordable and nutritious|

The Green Revolution started in the 1960s. It aim was to increase food supply by using pesticides,
Fertilizers and high yielding varieties of seeds. Unfortunately global population grew faster=not
enough food produced.

The New Green Revolution was later introduced, which aimed to increase food production at the

same rate as population rise through using:

v GM crops, irrigation, crop rotation and appropriate technologies
(strategies that are appropriate to where they are being used) ——

food.

Hyroponics Plants are grown in a nutrient rich water. =
Undermourishment | A poor diet with a lack of nutrients and vitamin Aeroponics Plants are suspended in the air and their roots are sprayed with a fine mist of
water and nutrients
CAUSES OF FOODSURPLUS/FOOD DEFICIT
Advantages v The plants receive the exact amount of light, water, nutrients, fertilizers and
WATER + Reliable rainfall = food surplus as there is enough water to grow crops. pesticides they need = all crops are healthy and grow quickly.
SUPPLY + Lackof rain (droughts), too much rain (floods) = food deficitas crops as destroyed. V' They are grown in tanks, which can be stacked on top of each other = more
(physical) crops grown in same space.
V' Crops stay fresh for longer s they continue to grow as they are being
TEMPERATURE | « Extreme temperatures = deficit as crops cannot grow. shipped.
(physical) * Mild temperatures = surplus as crops easily grow. v It uses less water than traditional farming in soil.
PESTS& * LICscrops are destroyed by more pestsand diseases due to their warm climatesand | Disaguantages | + it requires expert knowledge/skills and can be expensive, therefore less
DISEASES lack of pesticides and GM crops = food deficit. suitable in LICs
(physical) + HICs use GM crops and pesticides = less crops die =food surplus. + Some consumers say the food doesn't taste as good as traditional farming.
POVERTY + LICs cannot afford seeds, technology, irrigation, fertilizer = food deficit.
(human) « HICs can afford seeds, technology, irrigation, fertilizers, GM crops = food surplus Biotechnology | Plants are genetically modified (GM) to make them resistant.
= Resistant to pests, diseases, salty soils, droughts...etc.
CONFLCT War = food deficit because: « Increase the vitamins in the crops or increase the food's shelf Iife.
(human) + Farmers are fighting/not farming. vantages . o
 Political corruption - aid doesn't reach most vulnerable. g The use of GM maize in the Philippines has increased yields by 24%.
+ Food is used a5 a weapon and kept from most vulnerable. Increased yields = more products are sold = higher income = people can buy
more food.
IMPACTS OF FOOD SURPLUS/FOOD DEFICIT Disadvantages | + Environmental: super weeds could develop, resistant to new crops
FAMINEE. Farmine: the widespread shortage of food. + Social: increase in number of allergies in humans since using GM crops
UNDERNUTRITION | Undernutrition: the lack of  balanced diet (not enough minerals/vitamins). + Economic: they are expensive and require specialist knowledge therefore not
always suitable for LICs.
The UN estimates that 258,000 people died in Somalia due to food insecurity during
2010-12 famine. At the worst point, 30,000 people died each month. Irrigation Irrigation is the artificial watering of land. It means that crops always have
enough waterto grow = increase in crop yields (more crops produced).
RISING FOOD + Shortage of food = increase in demand of food = increase in price of food.
PRICES + In LICs the shortage of food can cause the price of basic foods (e.g. rice/maize) to * Large scale reservoirand dams. Water from the reservoiris used to irrigate
become too expensive. the crops.
+ Flood irrigation — the whole field is flooded. Some people do not like it
FOODRIOTSAND | Shortage of food = conflict as people fight over food. because it can cause waterlogging and uses a lot of water.
SOCIALUNREST | 1y 2011, a food riot in Algeria lasted 5 days and killed 4 people. It was because the « Sprinkler —a sprinkler sprays water over fields.
cost of cooking oil and flour doubled, «  Drip irrigation — crops are watered just where the plants’ roots are. Water
flows through a pipe that had holes in it, every point there s a root. It means
SOILERGSION Sail erosion is when the top layer of fertile soil is removed by wind or water. water is not overused.

Itis caused by overgrazing, over-cultivation, deforestation and farming on marginal
land

Irrigation can cause salinty —when irrigated water evaporates, leaving behind
the salts and minerals on the soils and crops.





